
Equations of Linear Motion and Rotational Motion. 
 

Linear Motion Rotational Motion 
If linear acceleration is 0, u = 
constant and s = u t. 

If angular acceleration is 0,  = 
constant and t   

If linear acceleration a = 
constant, 

If angular acceleration  = 
constant then 

(i) tvus 2
)(   (i) t2

)( 21    

(ii) t
uva   (ii) t

12    
(iii) atuv   (iii) t  12  

(iv) 2
2
1 atuts   (iv) 21 2

1 tt    
(v) asuv 222   (v)  22122   
(vi) )12(2

1  nausnth  (vi) 2)12(1
  nnth  

If acceleration is not constant, 
the above equation will not be 
applicable. In this case 

If acceleration is not constant, 
the above equation will not be 
applicable. In this case 
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